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MASTER OF ARTS (ECONOMICS) 

,L) 	 Term-End Examination 

0 	 December, 2013 

MECE-001 : ECONOMETRIC METHODS 

Time : 3 hours 	 Maximum Marks : 100 

SECTION - A 

Answer any two questions from this section. 2x20=40 
1. (a) Let y = a + (3x + E. Using the least square 

method of estimation derive the estimates 
of the parameter a and 13. 

(b) Find the values of a, 13 and R2  using the 
following data : 

x 2 3 1 5 	9 

y 4 7 3 917 

2. (a) What is maximum likelihood estimation ? 
Are maximum likelihood estimators 
different from least square estimators ? 

(b) Is 6.
2 

on unbiased estimator of 62  ? 

3. Explain the concept of multicollinearity. What are 
its effects on estimates ? Explain the various 
remedial measures for multicollinearity. 
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4. 	(a) Explain the concept of identification . Why 
is identification necessary prior to 
estimation ? 

(b) Examine the identification state of the 
following model of income determination. 
Ct  = ao  + agt  + a2yt _1  + ul 
It  = bo  + birt  + b2yt  _1  

SECTION - B 
Answer any five questions from this section. 5x12=60 

	

5. 	Write in short what is heteroscedasticity. Explain 
in details one of the measures for solving the 
problem of heterosedasticity. 

6. What are measurement errors ? What are the 
problems caused by measurement error in : 
(a) dependent variable, and 
(b) explanatory variables 

	

7. 	Write short notes on : 
(a) Dummy variable 
(b) Tests for Autocorrelation 

	

8. 	What is a dynamic model ? How is it different 
from a distributed lag model ? 

	

9. 	Explain in brief the indirect least squares method 
stating clearly its assumptions and properties. 

10. Explain in brief the principal component analysis. 

11. Explain the procedure of obtaining Generalised 
least square estimators. 

12. What is underlying idea behind dummy 
dependent variable model ? Explain how you 
would estimate a logit model. 
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(41TTF: 
ITT A-  f 	 d'clk 	 2x20=40 

1. 	(a) Triff (4)F,31 rch y = + px -FEaTIWFi .1;1 
cH Fa tTW -5171-)-rT 	ce,3t pkaTr- f 
-ap:rfff 

(b) 	rifilci 31'W t -51tiT a, 13 AT R2  k 
Trri qiicrktr.--R I 

x 2 3 1 5 	9 
y 4 7 3 917 

2. (a) 	3-fel-WM:I Til-TTrid-M 	t? 

2 
(b) ail 	I Q  , o-L .Wf 3Trf4T9is 3Tr*-0-T t ? 

3. cht aTri9r 	1311-*---o)' -ErT 
w 34T-rd t ? 	 ft 	 fafaq 34 -c1R10-141 

(r-IciRch) W:ITt 	.-ftEA-R I 

4. (a) 3-1-tifffqiTuT 	4ch(-411 	W7713-TTW—M.9 
31-FlifigiTur ail' 3if 	t ? 

MECE-001 	 3 
	

P.T.O. 



(b) 31Tzl fffgt7T 	r-o-iroroc-1 H I Sci ct;I 3-tifighl3T 

ft-grff 
ct  = ao +alyt +a2yt _ i +u1  
It  = bo  + bi rt + b2yt  _ 1  

41T1T-13f 

iTrrr fw-t ITN -vvq 	q1,-11 	5x12=60 

5. 	facer rol -clIrcicli *41 t ?Tft-)TIIIM-17§71f-ITITI f (1=41 cid] 

che) TITR:zri cli) 7 -WT4 	R.-1)fwt 	-7rrzi 	of 	a tai it 

-TTM - 1-r--A7 

6. 	1:TTITilfa--$ cNT t'? 	gc-f 14, 4-w-11 fe. gRi 67H-1 	

a~i f? 

(a) Litcli 3-17 

(b) chRch 

7. 	*1-Er -ild frf-a7 

(a) tch (54-11) .97 

(b) 51T1-6-#4'4-Llt1U111.  

8. 	41cq1c4-Ich 	ctqi t? 	Hkscirll 41150 -4 t74 

f t? 

9. 3-137IV 1-1c14-1 	 TNIttr au 

31-qq-FurrA 	 Tqg tc\L1 	r-q?! 

10. 13L-01- 	rcw; 	au! TOcr auk 

11. kimik411,1 	3T1 	 chl fqfq 

.qtrfi 

12. itch H 	(dummy dependent variable) HI50 
f*-14 fa-47 ITT 3-74Iftff t? c-iRrie 	31TW-07 

3171t4 	? 	vrr----R 
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